ol

DOOR CLOSER - DC 1002

Special Features

« Hold open facility.

« Hold open angle 150°.

« Latching and closing speed adjust valve.
« Right hand and left hand opening door.
o Door width upto 1000mm.

« Door weight upto 85kgs.

« Door opening angle of 150° max.

o 5,00,000 cycles tested.

Specifications

ltem Hold Open Fire Rated Latching and Closing Technical Parameter
Code No. | Facility |7 "Rt} gheeq Adjust Valve | Door Width | Door Weight
DC 1002 ‘ Yes Yes Available 1000mm 85kg
B standard mounting of left hand (LH)-View from push side
275
100
7.5 215 219
,,@,N%é,,v AN ® @jg - oo |
e oY Y/ © & e ROporing
Left hand(LH) door
210 195 75
S 110 275
%
g <
Door frame T v 8&) ‘@ ‘ Door leaf
= 1 %j
\ 360
o bits © @ & d
8 148 148 148 8
4-M5 x 15 Screw
140 460 4-ST4, 8 x 25 Self-drilling Screws 29 .
DO NOT back valves out of closer| / | ‘01
or a leak will result. — == —— ==
Door Frame DIE% ’ ‘
Door Leaf S e o
Ny BT 4wsn15 Sorew o ”
I 4-ST4. 8X25 Self-driling Screws == &0& )
S )
S 1 SN
- — iy
= 1By
CAUTION: Close the reguattng valves 76.5 L.@ ‘EZ’[—
fully.(Turn to the end clockwise) = 32
210
230 21.5

284



“[Jr| DOOR CLOSER - DC 1002

HE Top Jamb Mounting of left Hand (LH)-View from Push Side

9-1/6(230)
—1/4(21) =
765 | 21.5
CAUTION: Close the reguatting vaives 18 =
fuly.(Tum 1o the end dlocise) N T R
RV — 2N
(o]
4-M5X15 S " /\
. crew
g f\t’ 4-ST4.8X25 Self-drilling Screws \J
— ==l el -
Door Frame c 7 2 i "
. A o)
4 Door Leaf L~ Dﬂ:%i Z ‘ ‘
DO NOT back valves out of didser F== == N =
s or a leak will result. \m
4-ST4. 8X25 Self-drilling Screws =
140 460 29
8 148 148 148 8
M
@ © © ] 9 s
‘ 360 |
@ L < t I
Door [Frame T~ '*“@‘{@} J(@ Door Leaf
& &7 { F
° 110 275
j=2)
£ 210
I 19.5 7.5
T T
W@ﬁQHJﬁr\ @@E]%
o oY B\ & o
7.5 ‘ 21.5 219
00 Do{c\loser
275 I.A Opening

Left Hand(LH) door

M Description of Spare Parts
Latching Speed Valve.
Closing Speed Valve

Fast

/. Latching Speed Range

Description QTY

Body
Fixing Plate
Main Arm
Slide Track
Slider
Hold Open Module
@Fixing Bolt M8X1
(OSex Spanner 5mm
[@Screw M6x12L
@DScrew M5x15L
(@Self-drilling Screw ST4.8X25
®Screw M5x12L
D Screw M5x15L
|®self-drilling Screw ST4.8x25

elllelddeleplRle/eE

PN IS PN NS G N (N G (N Y N (N N N

Tighten
M Non-Handed M Installation Steps
@ z'fxt":‘g Szgylnstal\anon Ziigjmﬂé{‘ 8x25 @ Fixing and Installation of the Slide Track
@Scrow Msxi2L

Fixing Plate Body

CAUTION: Please close fully the regulating valves
(Turning to the end clockwise) opposite to the side of
the fixing plate after mounting of the fixing plate.

&Hu\d Open moudie

The Screw hole for the M5x0.8 screws should be chamfer @Screw M5x15L
Dself-driling Screw ST4.8X25
Slide Track
(® Combining the Main Arm and Body @ Combining the Main Arm and the Slider in the track 5 Opening Angle and Closing Speed Adjustment

Main Arm

_ -

Fast
Slow

©Fixing Bolt M8x1

285



